

8 HICKORY ST W, WATERLOO, ON N2L 3H6, CANADA

https://adamgracie.ca

Amazing 2-level, Top Floor Penthouse (11th floor) unit, with 5 bedrooms and 5 full bathrooms. Bright and spacious, with Incredible sunset views on the 2-storey balcony. Featuring Approx. 2100 sq.ft. of living space with a 2-storey, 20ft ceiling lounge, amazing eat-in kitchen with large island and pantry, in-suite laundry room, 5 large bedrooms and ensuite...

- 5 beds
- 5 haths
- Residentia
- Condo/Apt Unit
- Active
- Plans, 2104 sq ft





Rooms



Room type	Dimensions	Area	Length	Width
Kitchen	14 x 13	182	14	13
Living Room	33 x 14	462	33	14
Bedroom	18 x 9	162	18	9
Bedroom	14 x 12	168	14	12
Bathroom				
Bathroom				
Sitting Room	16 x 11	176	16	11
Bedroom	13 x 6	78	13	6
Bedroom	16 x 8	128	16	8
Bedroom				
Bathroom				
Bathroom				
Bathroom				
Laundry				



Building Details

Year built: 2012 ArchitecturalStyle: Two Story

NewConstructionYN: No Heating: Forced Air

Exterior material: Concrete **Roof:** Flat

Amenities & Features

Features: Elevator Security Features: Monitored,

Security System

Amenities: Dishwasher, Dryer, Fitness Center, Game **ExteriorFeatures:** Balcony

Room, Parking, Party Room, Refrigerator, Stove, Washer

Waterfront available: No GarageYN: No AttachedGarageYN: No CoolingYN: No

Cooling: Central Air PoolPrivateYN: No

FireplaceYN: No

